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Note: Write Answers fo the Quastions on 11¢ objective answer sheet provided. Four possible answers ﬁ.,B. C and D to each question are given. Which
answer you consider correct, iill the corresponding circle A, B,  ar [ grven in fronl of each cusstion with Marker of Pen ink on the answer sheat provided.

14 The sum of infinite geometric <sries with common ratio [} < 1is: ') ﬂf/}f—y 27
] = B) B [ = o u
i=r T+7 " g @ 137
2. Adie is_rolled. The probability that the dot un the top is greater then 4 is:
1 1 1 2
(A = B = c 0 -
! 6 Wl 3 & 0 3
3. Thevalueof *Cio =
(A 11 iB) ] (C} 2 0 2
4 The sum of exponents of a and b in every term in the expansion of (o + b)" 1
(&) 1 (8) n+1l #] n ) n-—1
5 Theinequality n! > 2" = i ig valid if nis:
(A n=3 ] nsl
6. 5;5 radians =
(A) 120° (8) 60°
7. Sin(@n—0)=
g The period of Sin 2x =
(A 21
e o5t
- cos 5
—absinr
i
6
60°
Contra positive )] Positive
BA {0} Biat
Al # 0 then system has:
Trivial solution (C) Non-trivial solution )] Infinite solution
1 1
e C -1 D ol
> (C) ) 5
18 An equalion which remains unchanged when x is replaced by % is:
A Exponential 3)] ~ Reciprocal (C) Radical D) Reducible
19.  Pattialfractions of —— il be of the form:
A B Ax+ B Ax B A+ Bx
e —— B e 0 — s D e
W x+1+x—{ @ x¢—-1 @ x+1+x—1 o x2—-1
0.  General term of the sequence 1,3,5 .. 08 _
(A 2nd 2 (B} 2n (C} Zn—-1 )] 3n
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2. Write short answer s of any eight parts from the following: u.)/? helf =Rt (8x2=186)
1 Finlci the multiplicative inverse of (—4, 7) i. Provethat£- = £ ifZ isareal number.
ii. Write down the power set of {9, 11} iv. Construct the truth table for (Pa ~P)— ¢
v. Define a group. = 1 2 O (7 [ '
vi. A== [a b] and A% = !_0 3] find the value of a and b,
) 1 x=1 3
vi Findxifl—-1 x+1 2|=0 viii. Show that AAY is symmetric for any matrix of order 3x7.
2 -2 x
iX.

»

Solve the equation: (a + b)x* + (a +2b + cyx+b +;76f—\\\
Find the condition {hat one root of x* + px + g = 0/is d? guther.
«i. Show that the roots of (mx + ¢)? = 4ax will be equal ifC % —,

gother.
a
e F =0
|

Xii. Solve the equations simultaneously: x +y = 5; x* + 2y =17
3. Write short answe's of any eight parts from the followt

; = 1 ; . N ; . \ 1

i e i a —
Resolve into = prartial fraction. /:_\\ x.mte first I’t{E’tETmS f[n {211}

ii. Ifnthtermofthe A.F.is3n — 1, find n,@i. P. iv. Evaluate: 4!.0!.7! \

v. Which term of the s2quence: x* — Z (st v),

(8x2=16)

Vi, Define Harmonic Mzan. Also derive formula.
vii. How many number: greater than 100,000 can be formed'from the dligits
viil. Find the value gf/ﬁ";mhen o= ﬁ;li\ \

X. Expand (1 +fx)"* upto 3 terms. -
xii. Using binomial théorems:

4. Write short answers of any nine parts from, thedoli (9x2=18)
i fi]gd g when = 2.5 em i Write domain and range of sin x
i Tf tamB< 0 and : in which quagrant & willfie-
v, Prove thansin? ™ /¢ + sin® T/ v, Prove that R = Fff
o distance between.A(3, 8)and'B(5,6). vi. State law of Sines.
=2 (S 74 &)
3 -
en cos o= and 0 << f,
_ 45°13"; b =421 findaandr.
i %} Xii.  Solve cosx = —?where x € [0, 2n}
xiil.  Definetigo omatrin/e'quation. Give one example.
3 SECTION-I
(10x3=30)

Notg Attempt any thres questions. Each question carries equal marks:
2 8 =1 B ]

5.(a) Reduce the following matrix into echelon form: {1 -1 2 -3
< S | 3 2

(b) For what value of m will the roots of following equation be equal?

(1+m)x? —2(1+3m)x+ (1+8m)=0

) Resolve %Z-:—i into partial fractions.

(b) A card is drawn from a deck of 52 playing cards. What is the probability that tis a diamond card or an ace?
) Show that sum of n. A. Ms between ‘3 and 'b’ is equal to n times their A. M.

a
b) 1 xis very near ejual to 1. Then prove that Px? — gx? = (p — q)x7™1
) Arailway train is running on circular track of radius 500 meters at the rate of 30 km per hours.
Through what angle it turn in 10 seconds.

(b) Show that cos20° cos40°cosB0” = %

g(a) Showinal 7,=4R SinZ-. Cos £ Gos L
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